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03121210 Swnywh0 Yndwinghghwbp/gwn ytujuwly/ uu hwin 55000 4 220000
03121210 SwnywihG Yndwnghghwbp/dwnytiuuwly uu hwn 45000 12 540000
03121210 Swnywht Ynownghghwibp/dwnynithniGe/ uu hwwn 8000 30 240000
03331300 plwywb dnpph /wywphyutp/ uu hwun 30000 1 30000
Gwypwipbpp, Juetihp, tlEYnpwlwinipnil L tGEpghw)h
9000000 wy) wnp)ntplhp 1722000
09132200 pblghU, ngnuywn a3 {hup 492 3500 1722000
15800000 quiwqub ubonwipkpp 790400
15623300 Jwhlwlywh guGwihnzh /wphuhyyw/ Uu hwwn 200 20 4000
15821500 Unh dnnhy uu hwuw 40 700 28000
15821500 Upniwuwl Znyniwnb uu hwwn 210 700 147000
15821500 plujwépwpihplbp udwyihly Ul hwuwn 120 700 84000
15861100 unLpé, Wnwgwo uu uq 5300 30 159000
15861100 unLpé, wnuwgwo Uu ua 3600 20 72000 -
15861300 unips, |nLeynn uu 4q 5600 10 56000
15863200 phj, UL * uu N 850 10 | 8500
15842210 fuutijne znnjwn uu ua 2500 25 62500
15831100 uwhwnwy pwpulp uu hwuwn 300 20 6000
15831100 uwhuwy zwpwp : uu ua 570 20 11400
15842100 2nyn|wn/uthynpu/ uu hwwn 190 200 38000
15842100 2nynjwn/dwnu/ uu hwuwn 190 200 38000
15842100 anynjwn/pydhpu/ Uu hwun 190 200 38000
15842100 onynjwn/pwnm bunp/ uu hwuw 190 200 38000
159000000 959400
15931150 Zwiyw)G uu nuwn 1050 100 105000
15931800 QhGh, uwhunwl/ upihp uu hwn 1225 200 245000
15981500 qnywgnighs piwhhplbp/ duiign/ Ul huwn 304 100 30400
15981500 qnyuwgnighs piwb)hplbp/ 0.25)/ uu hwwn 165 1000 165000
¥5981500 qnywgnighs pdwbhpltGp/ 0.33y uu hwwn 300 480 144000
15981500 qnyuwgnighs pdwbihplkp /0.5¢ uu nwin 270 1000 270000
18300000 135100
18311160 gniwwikp Uu anug 2500 40 100000
18420000 hwagniunh wwpwgqwbsp/wuwnpunwinyp/ uu nwin 1000 4 4000
18420000 hwgniuwnf wwpugquibp uu nwwn 500 ’ 3500
18420000 hiwgniuwn wwpiglbn uu hww 100 5 500
18420000 hwgniunh wwpwgubbp /2npw/ uu hwwn 600 6 3600
18421130/1 atplngltip uu qnyq 160 0 | 8000
18420000 hwgniunh wwpwgwbtn Uu hwun 3000 1 3000
19121700 wphbunwyw o Yuph/nGpdwwnhb/ uu ] 2500 5 12500
19200000 696160
19251100 gnpéywé Yunnplep /unp OGpJuuigned/ Uy 82 1500 1 1500
19251100 gnnpéywé YunnplGtp unp Gbpywpugnid/ uu* 42 1300 1/ 2210
19251100 gnpéywéd Yunnpobp /pwppunh Yunp/ uu* s6up 2000 100 200000
19251100 gnpaywé Yunnplbn /upuptnhly/ uu* dtwp 3000 17.5 52500
19251100 gnpéywé Yunnpotp /ewdhy/ Uy dbnn 2500 15 37500
19251100 gnpéwsé Yuinnplbp puwyhy/ uu* deup 2500 12.6 31500
19251100 gnpéyws Yunpltp /UpLpEwhl Yunp/ uur stwp 2000 16 32000
19251100 gnpéywé Yunnpltp /wphtivnwywl Yunnp/ uu* dGwnp 2000 16,3 32600
19251100 gnpoywd Yuinplp /gjny Uy dbun 1500 23 34500
19251100 gnpéyweé Yunplbp uur dkuwnp 3500 25 8750
19251100 gnpéywd Yunpltp uy* dbunp 6500 1 6500
19251100 anpsywé Yunnplbp uy* dkwnp 1800 3 5400
19251100 gnnoywé Yunplbp uu* stuwp 2000 6 12000
19251100 gnpéywé Lunnpbbn uu* dgunn 2000 6 12000
19251100 gnpéywé Yunplbp uu* dkwn 2500 6 15000
19251100 gnpéyws Yunnplep uu* dkwp 4000 1 4000
19251100 gnpaywé Yunpltp /uplpbnply/ uur dtnn 3500 6 21000
19251100 gnpédws Yunpbtp ! yunnp unubaughl/ uuy* oG 1500 20 30000
19241400 Jwpwgnyph Yunpbp/ gjnuy/ uu dtup 2500 50 125000




19241400 Ywpwgnypp Yunplbp/ (nqupwih/ uu 2 3000 4,2 12600
19431610 @EL Ynzhyh/ uu huin 2500 2 5000
19641000/3 wniftrpbbwhl wwnl, wnph hwdwn 60; Ul huin 220 60 13200
19642200 wnitppEowih plunwie U 7 uu hwn 1400 1 1400
| 22200000 529340
22211200 (Pwaptip, Eppba, wwppbpwywl dwdny L wduwgptp uu Hwn 11600 12 139200
. 22311100 Puighybbp nwwgnpywes uu Nuwin 250 790 197500
22811150 tinpwintupbp uuwgnywa uu hwin 640 301 192640
24100000 220000
24111310 ofuh hbgnil Ul {hup 3000 40 120000
24111310 qbijqkiph hbnnuly Ul {htnp 5000 20 100000
22400000 10000
22451280 wndubip/innduwgppnyly/ uu huwin 1000 10 10000
22451280/1 wundubp/ninduwgppnyly/ uy hin 5000 33 165000
24900000 0
24911500/1 unuhld (UNdhy) uu hwin 2500 10 25000
24911200 unuhbd, tdntuhw ULk hwin 0 2 0
30100000 169800
30199792/1 opugnyghp Uy, huwin 1850 1 1850
30199792/2 opgnugtn Ui hwn 2100 2 4200
30199792/3 opwgnigbp ULt huin 750 ] 3750
30197620/1 @R, A4 Snpdwmp Ul unncth 2100 50 105000
31141100 20h hnywgdwl hwdwywng /opguwb shuwbhqiny/ Uy huin 55000 1 55000
31500000 tntuwynpdwl vwppbip b bbhnpwlwi jwiybp 632250
| 31441000/3 Jwipinlng, AAA inbuwlh uy hwin 350 35 12250
B 41541230 Stpblwpl LEn jwdwy 120ud U huwin 0 0 0
31521480 |nuwynpywé wiywhwomwunwyibp Ut huin 0 2 0
41541240 LG il puililyuw LI huwin 800 100 80000
__ 31541240 LEn wlw, 6060 Ui hwin 9000 60 540000
541280 LEN Jwdy pwbilw 80 Yuwwn LI hitutn 0 0 0
1531230 LGN wiw 60 Juwiwn Uy, huwin 0 0 0
[ 31600000 b bYnpwlwl uwppbn L vwppwynpnidGbp 100000
3165 400 dtynuupy dwwwyblutp U huuin 0 0 0
31 684400 Juiprwly LEpphu UL huwn 0 0 0
31684400 Yupmwly Ui hwin 0 0 0
31686000 fupng unynpuwlyuws Ut huitn 0 0 0
31684400 Ejnyupwiwl wigwinps benpnu Uu huun 0 0 0
31686100 ClEhnpwlwl rupng” Uhwplibn, hnnwbignudng, -16U U hiun 0 0 0
31686100 ElGYnnwwl Ynpuwn hwpus. LU i 0 0 0
31686100 EibUwnwlwl Unpwn hwhué. Ul huin 0 0 0
33191130 pd2lwlwl duhGuwlyw) bbp L huin 100000 1 100000
33700000 340400
B 3761100 qnLgunwlh e Ul hunn 650 360 234000
476 1400 wuatnnghyutin Uu wntfs 720 120 86400
33761400 whiatnnghybtp Ynudtinply pwyndp/ ULk wnith 400 50 20000
5110 06wn (5 |) Uu huwin 2600 25 65000
g 53761100 grLguipwibp pnigeihnpp/ U huin 450 52 23400
35100000 76000
39721500/1 Libinnwlwl wwpwgneghy Uu hunn 36000 1 36000
_A8rats00/ 2tpdwihl onwdinfupy LIt huuin 20000 2 40000
| 35111130 Ypwlbwphbp U hunin 30000 8 240000
| 39200000 278500
36221350 Stljwbguidjw oguiwgnpodwl pwdwybbp L hn 150 1650 247500
39224370 funquubituly, hwgnuuwnp Ui hiwin 1000 10 10000
39221490/1 utymigllip Uy hwin 200 30 6000
39224560 wyniihbwphpbn (dnjgw) U hun 3750 4 15000
39800000 181100
39831243 (Ywgph nzh wyinniwn/SAVEX/ uu huwin 3000 2 6000
39831280/1 wwwbh Jwenpbne dhpng uu hwtn 540 40 21600
39831283/1 hwwnwhh Ywgdwl jwe [919] hwwn 1250 30 37500
39831283/2 hwwwbh \Jwgdwl jwra/ dnwh 2np/ Uu huin 1200 30 36000
39831283/ hwwwlh wgdwl wwp uu it 1000 30 30000
39836000/2 wby, uninpwlwl uu huitn 1400 20 28000
19831240 Uwppnn Wnipbp (nnutuunu) Uu huin 1300 10 13000
39831240 duwippnn bynepbp /duiigh hennuy/ uu hwin 1800 5 9000
41100000 phwlwi onip 916000
41110000 pUwbine pnp /191 Uu {hup 100 4260 428000
41110000/1 puwtne gnip /0,51 uu [1alialy 140 3500 490000
42100000 177900
42121190 PO wnduwbp Uy huwn 65000 1 65000
42131470 onpuwybtiph dwubp fwwlp / uul huwin 1500 5 7500
42131470 onpwlbbiph dwubp fwwlyh / uu huwin 1800 3 5400
42131470 Snpulylibph dwutp fhngpuly Uy hwin 1300 20 26000
42131470 gnpwybtiph dwubp Ahnnpuly uu huwn 1500 16 24000
42131300 2 drwlyuil Uy huwn 2500 10 25000
42131490 updnl uu hwin 2500 10 25000
44100000 117000
44112140 |WihGwwn Ul hwn 33000 3 99000
44112170 huninid uu u 3000 6 18000
44300000 161500




44221161 ofulh /ewywih whuingp/ uu hun 4000 1 4000
44331400 wnndhiGbp Uy dbwnn 3500 45 157500
44400000 626800
44411400 glgnin, dénpwyny uUu hwun 85000 1 85000
44411120 oph énpuwily, 2 thwiywling uu hwun 12000 1 12000
44411120 onh énpuily, 2 thwlwing uu htn 10000 8 80000
44411742 gnigunwlwynbph thnnpuwly uu hwn 1200 4 4800
44411742 gnrqupwlwynbph thnnpuwy uu hwun 1500 6 9000
44411742 gnigupwiwyniph dbuwbhqd uu huwn 7000 4 28000
44411742 gqniqupwbwynoph vGluwbhqd/pwsnly/ uu hwwn 1000 10 10000
44411742 gnigunwawynbph dbuwbhay/wwwwdnly/ Uu hwun 3000 10 30000
44411742 qnigupwlwynbph dGfuwbhqy uu huin 8000 6 48000
44411200 |nquipwbltp /Jublw/ uu hwn 320000 1 320000
44500000 160000
44531191/1 tpyweb funnndwlGbp 20*20%1.5 Uy dbuinp 700 100 70000
44531191/1 Gpywpet funnnywyitp 20*30*1.5 uu dbup 900 100 90000
SwnuwjnLpnluutp 82613600
43131150 hnpuwnidwh wzmwpulbn uu npwd 110000 1 110000
48441300 qlOnuibEph hwiwywngswih0 dpwapwih( thwebedtn Uy npwd 100000 1 100000
wywnndbptOwbbph yepwlnpngowl
50111130 900 1
SwewniinLGibp/nGepwahly Ybpwinpngnud/ o T 000 900000
50311250 wwwnskowhwOnn uwppbph Wwhwwodwb dwewjnipntblsn uu npwd 390 400 1 390400
55320000 uO0nh dwwnnigiwl wewyntpnLblbp/$niptin/ Ju npwd 990000 1 990000
55521300 ubOnh wewpuwl dwewjnpntlGen yu nnwd 720000 ) 720000
60231200 wnnwluwnpuwihl thnfuwnpuuil dwnwynpnlulbp/perbtp/ Ul npwy 200000 1 200000
60411200 YuonOwynp onwjhb dinfuwnpdwl swewnipntl (wyhwwndu) uu nnwdJ 313000 1 313000
63511200 unndubph Ywswnph Swnwinipincubp uu- npwd 12000000 | 1 12000000
64111200 thnuuinuwjht Swewympniobbp” uwywd Gwdwybtph htun uur npwu 60000 1 60000
64211120 Uhppwnwipwihl hEnwunuwihl dweuynieniulibp uu nnwd 230000 f 230000
65111100 oph pwpiudwl b npw hwn uwywd swnwjnigncbutn Uu nnwd 1373600 | 1373800
65211100 qugh pupuncd uu* nnw 2945300 ! 2945300
ElGYunpwywtntpjwl puwbudwl W npw hGwn Yuwyws
65311100 SRR lnLUUI:fn Uy Anwu 1100000 1 1100000
66111200 pwlwihO swewnuenbObp uu* nnwd 50000 1 50000
66511180 ARSI L O e A ) LT ) uu npwd 60000 1 60000
dwnuwnientllbp
70211100 ROWYGIA Wozuind gnieh Yuwndwluwinipuit Yud (hghtah uu Apwd 400000 1 400000
awpwinLpMbiGn
Spwgpwiho wwywhnydwb uwywuwnpydwh .
72261160/1 129600 1 129600
{ dwrwinipinLbbbn/<IU/ uu nnuid 2960 960
Spwgnpuiht wwwhnydwb uwjwuwplydwo ”
’
72261160/2 P e e uu npwd 210000 210000
Gpwdaunnipjwb Ywd dwjlh udpwgpiwb hwidwlwpgswihl
72211199 spwapuwiht thwebpltph dawydwd swewjnpnLbGEp/nwuwnwh uu* nnwd 170000 5 850000
nuuwliwl duybwnpnd/ == R S =
72410000 huwnbpubn SwnwinuenLLltn Ju nnuil 524000 ! 524000
i hwywhpnthwhl wanwb2wlwihl hwdwywngh .
1 Uu T 24000 ! 24000
75251200 pwdwunpnwapnd /UOU/ M ¢ SR
77111300 uwppwynpnudttph Jupdwyugnigntt Ahwjunwdwlyiw / uu nnwyJ 240000 1 240000
_ | .
79121100 htinhfuiluyh hnwynibeh htwn L unphpmunguiut uu anwd | 1000000 1 1000000
duwpunpintbObp = i |e= BN
79211220 gniypwgpiwl swewjnipinLblbGn uu npwd 980000 1 980000
79341100 anuuqnuhl bw"“”“”aj:;m‘é :j‘““w“‘“[‘mw““’”wm’p uur nowy | 40000 : 40000
79341100 gnjwagnuwihu swnwnLpinlubp/SP anywgn/ Uy npuwd 2200000 1 2200000
79341100 anjwgnuwihl swewnipntbbbp/nwuwpwb nwuwywo hnpndwly/ Q3 npwuJ 400000 1 400000
79411120 funphpnwnywlywl Swewnipntbobp uur npwyJ 144000 1 144000
79411210 Y T Y Y 7 VR L O uu AW 110000 1 110000
Sweuynipm 00k
79411130 Oz 2 2 LA ) [ e uu AnwU 350000 1 350000
dwrewnupintGO6n
79531100 anwynp pwpgiwbnipuwl swewnipntbObp uu npwud 385000 1 385000
79631200 wfuwwnwyhglenh Yepwwywnpuwunidwh swewnienibltp uu* npwd 300000 1 300000
79821170/1 nwwgnwywi b wewpdwl dwewinipntbbbp/pwhtn/ uu hwwn 24000 1 24000
79821170/2 unwgnwlywi b wewpdwl dwewinipimGOGn/ wynunbe/ uu npwd 250 100 | 25000
79821170/3 nwwagpwywl b wpwpiwl SwewjnipntGibn Uu npwuJ 900000 1 | 900000
29981100 pwdwlnpnuwagpiwb dwrwnientGaEp/Uhynin, Gnuwwb Uu —— 200000 1 F 200000
huGupu/ 25 = =
dwympwihl dshongwenidbbinh YwadwyGpuwdwb
79951110 Swrwynipntbep/uEpywwgnLiutnh Uywpwhwunid ($nwnn, uur npwd 990000 1 990000
yhnkny/
Gwympwihl dhengwrenuibbph Ywqowlybpwdwb
79951110 SwewjnpnLobEp/uEpYuwwgnuiuEphMhpwnbiulply, W inLuwhu uu* npwyJ 7000000 1 7000000
EdElwnbitn/




90441100 Ytnunwentiph htinwgowl hnpkph duwppiwl swewnipnLbltn Ul i 500000 500000
90511160 N inwbquiynp wiph b pwihnGitpp htrwgiwh L nsbswgiwb Uu npwy 360000 360000
dwrwinupNLibtn
90921300 wnlibinlbph n6U wwipwiph duwnwnLenlultp Uu npwy 102000 102000
tpwynipwiht Uhgngwnnwdutph Ywgquwytpwuwl hw Yuuywd 2
Juindwywnipjwu OumLanLraJnLUUbn/Uhumu¢nhUt:nh 0208 936000
92151100 dwpdwiluned/ nput 936000
92111100 hn- L wGuwdhidknh wnuwnpniewo @ nnwd | 6700000 6700000
SwnuynipniGabp/nuuwpwa nuivwlwi /
Jwlnipwihl vhgngwnnidutph Ywaquwlbpwdwl htn Yuwwd
qundwlwnizjwl dwnwjnienlibbp/nwuwnwi nwuwlwo a3 hwun 300000 1500000
L_ 492151100 pEdwnpwlwl wwpwqulbn/
Jouwintpwhu Uhpngwnndltiph Ywauwybpwdwlu htwn Yuwywd
Jwpdwlywniejwb dwnwintnLutin/Gpyynndulth Eypwth A ASIEY
} - 9&1100 N Junowlwinienil/ Q3 hwun
d2wynipwihb vhgngwnnudutiph Ywaduwlbpwdwl htn uwywd
Juipdwwneewl meu]nLrajnthtn/%n[nqanbhu typwlh 267400 ZSupe
92151100 Jupdwywinueyn/ Q3 hwun
Bwlynipuwihl dhgngwnnidutiph Ywquwybpwdwl hbwn yuwdws 4800000 4800000
92151100 Jwpdwlwnipwl dwnuwynipnibbbp/wnnklnnp Lo Ehpuwly/ a3 npwdJ
ganwpybunwywl gnpéncibnp)wl hewn Juwyws
92311100 SwewinueNLOGGR/nwuwpwl+nwuwlwl pGUWLwnswywl L uur hwuwn 180000 900000
InLutwhu duwdnpnud /
wlhww wpybunwgtinbtiph Ynnihg nnwdwnpynn ”
92311230 Ul wuJ 8000000 8000000
2312 SwrwjnupiniG06p /hpwihpiwl nEpwuwliLEn/ e nn
gnunytunwywb gnpénibbniput hbwn Yuiyywé .
1100/1 h 200000 200000
9231110 dwewinipnt(6Ep/Uwpub Yhuwbinphh wwinpwunnuy uu v
gtnwpybunwywo gnpénibbnipul hewn Yuiwyywé .
11100/ 00000 200000
R dwrwinipniblEn/Uwpuh hnLwunwhuinwyh wwnpwuwnnd/ U A 20
gEnwpybunwywo gnpénibbniput hw Juwyws ,
1 20000
SO0 SwrwinipnGatp/unp Ubpywwguwl nEYNP WwunwuwnnLd/ o huun AU 280000
qtnwnytuinwlwl gnpénibtnupwt htun Juwywé N
92311100/4 0 1750000
2 ! ownwnpnabtp/unn ubnYuywgUwu nEynputiph Bptuwwuny/ uu A IGETIEY 7
= B - qunuwpdtunwiwi gnponiltingpiub houn Yuwyws .
92311100/4 SwnwnipntLLEP/LNP LEPYwywgUwl wuwnnwih uur huin 780000 780000
L B Lunbiugwpwgnynd
gtnwpytunwywl gnpénilbnipjui htin Juwuwqwsé .
9231110075
Swpw)nipyntblbp/unn UbpYuwywguwl nkdhunph dwinwynLpnLl/ U fun 4500000, IO
gbnupytunwywi gnponibbnipuwl htw Yuwywé 5
92311100/6 5000
SwrwinipinGibp/phuwbiywnhsh SwowinueiniL/ uu nnwid 50000 450000
qtnwpytunwywl gnpénibbnipjwb htn Juwywsé .
92311100/7 €] 0000 12000
| Swnwinipintbbbp/upuptph phywnpnud L Yuinwpnui/ = nnwy 130 20000
gEnunytunwywl gnpénibbnipwl hbwn Yuwuwywé .
92311100/8
‘ dwewngpntbUtip/tnpgtph untindnud, Wwynid W unwpnod/ = fnud Slangely e
atnwnytunwlw gnpénibbnipjwl hbwn Juwyws
92311100/9 ownwjnipm GLER/UND UbpLwpwgdwl pbn dnpniph uur npwuJ 990000 990000
= Ssmmw - wwwnpwuwnned/
I atnwnybunwywi gnpénibbnipwt htn Yuwywé
9231110010 wwpwbplbbp L SwrwnpNLLOGR/REUWRNWYWU uu* npwud 8000000 8000000
‘ - = buwnwninLiltp/
L 10000 - (qwgdwl L pnp dwppdwl Swewnignibbsp uu npwd 450000 450000
[ 08391200 | wy ownwympnidbEpEYG LAY uu* nNpwy 20000 20000




